
 



 

 

Any distribution, copying or disclosure of this document or its content is prohibited, unless 

expressively authorized. Failure to comply will incur liability for damages. All rights 

pertaining to patenting or design registration are reserved. 

Document key 

DRF / 000 / 01 
Page 1 

Document number 

ZM0934  

Updated by EGLOFFPA 07.08.2012 

Document description 

- 

M4 screw kit: TR-TF-LR-LF-AR-AFR-AF 

 

 

ZG-M4 
 
M4 screw kit: 

TR-TF-LR-LF-AR-AFR-AF 

1 

2 

3 

4 

5 

6 

7 

8 9 



08
/1

2 
- 

Su
bj

ec
t t

o 
ch

an
ge

. ©
 B

el
im

o 
Ai

rc
on

tro
ls

 (U
SA

), 
In

c.
.

 0
8/

12
 -

 S
ub

je
ct

 to
 c

ha
ng

e.
 ©

 B
el

im
o 

Ai
rc

on
tro

ls
 (U

SA
), 

In
c.

ZG-M4 Screw Kit

TR-M4x57
M5 Washer

LR-M4x57
M5 Hex Head, M4 Washer

AR-M4x63
M5 Hex Head, M4 Washer

TF-M4x90
No Washer

LF-M4x96
No Washer

AFR-M4x106
M4 Washer

AF-M4x100
No Washer

71
41

7-
00

00
1_

A

(US/LATIN AMERICA and the CARIBBEAN) 800-543-9038 www.belimo.us

(CANADA) 866-805-7089 www.belimo.ca

TR-M4x57
M5 Washer

LR-M4x57
M5 Hex Head, M4 Washer

AR-M4x63
M5 Hex Head, M4 Washer

TF-M4x90
No Washer

LF-M4x96
No Washer

AFR-M4x106
M4 Washer

AF-M4x100
No Washer

71
41

7-
00

00
1_

A

(US/LATIN AMERICA and the CARIBBEAN) 800-543-9038 www.belimo.us

(CANADA) 866-805-7089 www.belimo.ca


	ZG-M4 New body - CCV screw kit.pdf
	ZG-M4 - CCV screw kit.pdf
	ZG-M4 Info.pdf

